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e Alimentacié de la bomba
P55 a ® = & IP55 a &z P55 " RV-K 0,6/1KY 3x25mm?+TT Cu
k soterrada baix tub fins quadre bomba
Pinst: 0.0 kW Pinst: 0.250 kW Pinst: 0.045 kW Pinst: 0.0 kW Pinst: 0.116 kW Pinst: 0.0 kW Condensador in (A 175
Pcale: 1.50 kW Pcale: 0.250 kW Pcalc: 0.045 kW Pcalc: 1.50 kW Pcale: 0.209 kW Pcale: 1.50 kW TkVAr n( )” ’
Seccié (mm?) 25
Ltot (m) 10,00
e (%) acum. 1.67

Alimentacié de la bomba

RV-K 0,6/1KV 3x25mm?2+TT Cu
acria dins el sondeig

In (A) 41,72
Seccié (mm?) 25
Ltot (m) 128,00
e (%) acum. 3.22

™

18,5 kW
cos fi=0,8



